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Section A

Answer two questions from this section.

Economic Activity and Change

(a) Describe the pattern of BMW car plants in Fig. 1.
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(b) Explain why Transnational Corporations (TNCs) may often locate assembly, research and
development, and marketing in different regions of the world.
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(c) For one or more examples that you have studied, explain the benefits and problems of
reclaiming derelict land.

[Total: 30]
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2 Settlement Dynamics

(a) Use the photographs in Fig. 2 to help suggest what issues may be faced when planning to
develop each of the areas shown.
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(b) Suggest how technological change might have an impact on settlements.
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(c) With reference to one or more examples that you have studied, explain how both individuals
and authorities might improve housing conditions in LEDCs.

[Total: 30]
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3 Population and Development

(a) Use Figs 3a and 3b to describe how well current levels of development are a guide to present
and projected fertility rates.
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(b) Explain why mortality rates are declining in most regions of the world.
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(c) For one or more countries that you have studied, explain why policies are needed to manage
population change.

[Total: 30]
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Section B

Answer one question.

EITHER

4 ‘New technologies are the main reason for changing employment opportunities throughout the
world.
To what extent do you agree with this statement? [30]

OR

5 ‘Urban growth inevitably causes change in rural areas’
How far do you agree? [30]

Essay Plan for Question 4 or Question 5

Question 4 or Question 5 (Circle your choice)
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If you use the following lined pages to complete the answers to any question, the question number
must be clearly shown.
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